E 0l &

A& & Al A

o= ECEEED
. C2(3H) - MSAR - BES AroH f[ElioB Hins2t
12,538,014 9,996,219 2,541,795
104, 165 104,165 0
1,424,520 1,424,520 0
2,181,048 1,793,427 387,621
8,828,281 6,674,107 2,154,174
SE(SUMY 4,811,613 4,008,041 805,572
70,250 70,250 0
1,411,020 1,411,020 0
898,546 838,546 60,000
2,431,797 1,686,225 745,572
= 4,811,613 4,008,041 805,572
70,250 70,250 0
1,411,020 1,411,020 0
898,546 838,546 60,000
2,431,797 1,686,225 745,572
2E=X 137,037 137,347 A310
B2 2,790 3,100 A310
Ekr 2.790 3,100 A310
L>E= SHOIARZ)
AF 1,790,002 1,790 2,100 A310
X 9 61,392 66,370 4,978
29 11,087 11,495 408
29| 11,087 11,495 N408
AZESASLEME KIHZ BIE2] L EHOIO]
gy 11,087 11,495 N40B
—XIHX HHEI2] PR (RISHEOH ALY
A 5,642,000 5,642 6,050 A408
NEET] 35,430 40,000 4,570
e 35,430 40,000 4,570
=ES HIE| PVCAIKE T2 (Ofl AFEI2Y)
A 35,430,000 35,430 40,000 4,570
SAS0PBE X 777,500 355,500 422,000
307 QI2HO|A 777,500 355,500 422,000
02 A AN B R 777,500 355,500 422,000
OUF=HE 1S Abed 777,500 355,500 422,000
—T20|Y H3= SI&Z2 X (2X8
o) 0002 * 100,0004¢ Kt 500,000 130,000 370,000
—AZ= NS 2UHQIAIFNH,
998, X2 (EXS 80%)
21« 603| * 80/100 9,000 64,000 32,000
-28
20,000,0002 * 14! 20,000 0 20,000
S2422/(6AP) 21 X SIAKITAl 22 137,260 68,400 68,860
QB2 1,260 1,400 A140
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SA - FHH . C(3H) - HMSAL - BAS Ofl Akt J| & o Hm=2t
01 AF22t2ld| 1,260 1,400 A140
OGP 2 FAK S BES ME(0AE)
Zij, 22,0008 x 3158 * 23| 1,260 1,400 A 140
301 LEt8XZ 136,000 7,000 129,000
12 JIEI2 A= 136,000 7,000 129,000
OGP &% HEHZEIIZY NA(B2HE
"OI2HE A AT I A)
3,000€ = 86,000kg * 50/100 129,000 0 129,000
307 IZ2t0| & 0 60,000 60,000
02 QIZHAAMAIIE X 0 60,000 60,000
OGAP 2= MIE-AXIIZH| XK (BXE 50%)
(=2FE:"I|EIBAZ"OR) 238 0 0 60,000 60,000
SSEME FEHG X2 120,000 0 120,000
301 LEtE M2 120,000 0 120,000
12 JIEtE A2 120,000 0 120,000
OZI|0IA=H bl NI
120,000,000& = 14! 120,000 0 120,000
(Z)sASAESH L KMAIE X AL 200,000 0 200,000
< 60,000 0 60,000
Al 140000 0 140,000
402 BIZEXE0| & 200,000 0 200,000
< 60,000 0 60,000
Al 140,000 0 140,000
02 CIZFRIEAIE X (0| & THH) 200,000 0 200,000
OSASAES U JMAIL DoIEER
400,000,000& = 1A = 50/100 200,000 0 200,000
[ 60,000 0 60,000
Al 140,000 0 140,000
SHEAE (LR R ) 547,300 705,500 158,200
< 68,600 68,600 0
Al 478,700 636,900 A 158,200
=ZHSANSE 547,300 705,500 A 158,200
< 68,600 68,600 0
Al 478,700 636,900 A 158,200
SELE oHEZ X 206,800 365,000 A 158,200
201 LEt2AH| 10,800 162,000 A151,200
01 AF22t2|H| 10,800 62,000 A51,200
OUZA SENE FHBEMA SERQ T
(Ol aFEZ) 23 1,800,000 1,800 2,000 A200
OYFA SEME Gel E2 (AR
23& 9,000,000 9,000 10,000 A 1,000
OIS THHE QI ANAT SEAE NS
NS (2o ALzt 25 o2 50,000 A50,000
03 A2 HEH]| 100,000 100,000
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SN RENAD
M SABAARH(SEHLSL/ S - 5E)
ol stngal (S92l &)
S - 3 - RA(SH) - MRAY - BAS Oif &K I BN HwES2
307 2I12H0IA 1,391, 181 1,020,663 370,518
= 278,235 204,133 74,102
Al 1,112,946 816,530 296,416
02 SR HAIEE 1,391,181 1,020,663 370,518
OFsASAS BDIA XA(SHNES)
2= 1,391,181,0002 1,391,181 1,020,663 370,518
= 278,235 204,133 74,102
Al 1,112,946 816,530 296,416
308 XHXIEHHI SOl 37,075 27,238 9,837
= 7,428 5,447 1,981
Al 29,647 21,791 7,856
08 REDIHOHE 2 E 37,075 27,238 9,837
OFsASAS SIIA XRA(HBT)
2 37,075,002 37,075 27,238 9,837
= 7,428 5,447 1,981
Al 29,647 21,791 7,856
SAZAARH(DR/ROILEESDS) 3,015,205 2,177,054 833, 151
< 903,814 652,276 251,538
Al 2,111,391 1,524,778 586,613
EIEN 3,015,205 2,177,054 838, 151
< 903,814 652,276 251,538
Al 2,111,391 1,524,778 586,613
AMEDS X2 1,260 1,400 A140
201 Ly Y| 1,260 1,400 A140
01 AFR /] 1,260 1,400 A140
OAME DSOS (0] AE)
2 70,0002 * 9% * 23] 1,260 1,400 A140
eI ETNEETPAE 1,260 1,400 A140
201 LBr2 | 1,260 1,400 A140
01 AFR 22l 1,260 1,400 A 140
OYFAISDIAXIAOISIRAG] 2SHOAR)
2 70,0008 * 9% * 23] 1,260 1,400 A140
BEERENENE 3,012,685 2,174,254 838,431
= 903,814 652,276 251,538
Al 2,108,871 1,521,978 586,693
308 XHXIEHHISOI 3,012,685 2,174,254 833,431
< 903,814 652,276 251,538
Al 2,108,871 1,521,978 586,693
08 RS2 E 3,012,685 2,174,254 838,431
OZZDeDIAXY B 3,012,685,0008 3,012,685 2,174,254 833,431
< 903,814 652,276 251,538
Al 2,108,871 1,521,978 586,693
#H2AAH| (SEXNAD) (IEHIIEH 74,482 82,624 ~8, 142
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M HH2HAH (RSN (IEHIIE
29 =2l (Sr9): @)
S - FE . SRI(EIH) - HISARY - BAS 0l &kt pIE-Lt HlmS2
IR 74,482 82,624 8, 142
SIEET 74,482 82,624 8,142
201 ger2gy| 18,418 20,464 £2,086
01 A2l 18,418 20,464 ~2,086
OSAIBX PY(AMEY)  BF 2,112,002 2,112 2,688 AST6
OATR %4 6,690 8,080 21,39
—IRIE 2l(0laER) A 180,002 180 200 A20
—=AD| EL (014 A 800,002 800 1,000 £200
—IRIE EL(2H) (AR
A 3,200,002 3,200 4,000 2800
—IRIE S (22 (IR
A 80,0002 800 1,000 2200
—JIEF 22IHI(0IAE2) A 40,0002 430 600 AT70
OJIEF MRZ2IHI(GIAE) B 760,000 760 840 A80
202 01b| 52,164 57,960 £5,79
07 =LJ0TH] 52, 164 57,960 ~5,79%
ORENAD LREX 0fdl(2el) (A=)
AE 11,844,002 11,844 17,640 N5,79
203 22Z Y| 2,700 3,000 2300
04 ENEGLLEAY| 2,700 3,000 A300
SN SYARET| (A=)
A 2,700,0002 2,700 3,000 A300
HRHE(SENAD) (SYHLSSM/ Y - 5&) 476,247 476,247
EENES 476,247 0 476,247
EENE 476,247 0 476,247
802 BH&30|Et 476,247 0 476,247
JEREEEEEE 5,809 0 5,809
020204 E 5,809 0 5,809
—sa2 TEAEY N0
6,0602 * 14] 7 0 7
—SA2 OB XI(0IR) 5202 * 141 1 0 1
—GAP QIZET} QHEA AN IR
5,300, 15021 * 14| 5,301 0 5,301
—ZAK| P EYBS OIFA 2A
500,000 * 14} 500 500
02 Al - SHIEZ e 470,438 470,438
020204 & 470,438 0 470,438
—sa2 ZEAEY N0
1,820 * 141 2 2
—SA2 OB XIR(0IR) 562 * 14! 1 1
—GAP QIZISI} QHEAAN IR
1,690, 34521 * 14] 1,501 0 1,591
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